



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (Software Engineering) 3rd Semester Section-E Morning Session: Autumn 2025

Registration #	Name	EW244					GE169					GE265					SE2110					SE213					SE215				
		Technical & Business Writing					Applied Physics					Calculus and Analytic Geometry					Computer Organization & Assembly Language					Database Systems					Data Structure				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S SE SP-2024-M-B-0106	Muhammad Sharyaar Dhaniyal	37	F	-	3	-	-	-	-	-	26	F	-	3	-	58	C	2.0	3	6.0	20	F	-	4	-	33	F	-	4	-	
B.S SE SP-2024-M-B-0121	Touseef Hussain	50	D	1.5	3	4.5	-	-	-	-	29	F	-	3	-	56	C	2.0	3	6.0	59	C	2.0	4	8.0	48	F	-	4	-	
IS/BS/SE/A-24/M/E/01	Afnan Ahmed Khan	60	C	2.0	3	6.0	-	-	-	-	44	F	-	3	-	71	B	3.0	3	9.0	70	B	3.0	4	12.0	54	D	1.5	4	6.0	
IS/BS/SE/A-24/M/E/02	Ahsan Mahmood	65	C+	2.5	3	7.5	-	-	-	-	50	D	1.5	3	4.5	71	B	3.0	3	9.0	43	F	-	4	-	45	F	-	4	-	
IS/BS/SE/A-24/M/E/03	Alishba Bibi	70	B	3.0	3	9.0	-	-	-	-	61	C	2.0	3	6.0	58	C	2.0	3	6.0	67	C+	2.5	4	10.0	48	F	-	4	-	
IS/BS/SE/A-24/M/E/04	Areeba Hameed	67	C+	2.5	3	7.5	-	-	-	-	53	D	1.5	3	4.5	52	D	1.5	3	4.5	50	D	1.5	4	6.0	36	F	-	4	-	
IS/BS/SE/A-24/M/E/05	Fareeha Sughra	88	A	4.0	3	12.0	-	-	-	-	75	B+	3.5	3	10.5	76	B+	3.5	3	10.5	70	B	3.0	4	12.0	66	C+	2.5	4	10.0	
IS/BS/SE/A-24/M/E/06	Farhan Ahmed	70	B	3.0	3	9.0	-	-	-	-	36	F	-	3	-	57	C	2.0	3	6.0	60	C	2.0	4	8.0	51	D	1.5	4	6.0	
IS/BS/SE/A-24/M/E/07	Hadia Habib (Before Final Exam A)						-	-	-	-																					
IS/BS/SE/A-24/M/E/08	Hafeez Ullah Khan	68	C+	2.5	3	7.5	-	-	-	-	80	A	4.0	3	12.0	57	C	2.0	3	6.0	56	C	2.0	4	8.0	53	D	1.5	4	6.0	
IS/BS/SE/A-24/M/E/09	Hamid Karim Mir	65	C+	2.5	3	7.5	-	-	-	-	37	F	-	3	-	59	C	2.0	3	6.0	65	C+	2.5	4	10.0	43	F	-	4	-	
IS/BS/SE/A-24/M/E/10	Haris Idrees	75	B+	3.5	3	10.5	-	-	-	-	65	C+	2.5	3	7.5	71	B	3.0	3	9.0	77	B+	3.5	4	14.0	72	B	3.0	4	12.0	
IS/BS/SE/A-24/M/E/11	Javeria Khawar	83	A	4.0	3	12.0	76	B+	3.5	3	10.5	60	C	2.0	3	6.0	83	A	4.0	3	12.0	-	F	-	4	-	51	D	1.5	4	6.0
IS/BS/SE/A-24/M/E/12	Jawad Hafeez	61	C	2.0	3	6.0	-	-	-	-	31	F	-	3	-	71	B	3.0	3	9.0	50	D	1.5	4	6.0	44	F	-	4	-	
IS/BS/SE/A-24/M/E/13	Juma Khan	67	C+	2.5	3	7.5	-	-	-	-	65	C+	2.5	3	7.5	52	D	1.5	3	4.5	75	B+	3.5	4	14.0	61	C	2.0	4	8.0	
IS/BS/SE/A-24/M/E/14	Maham Kamran	50	D	1.5	3	4.5	-	-	-	-	50	D	1.5	3	4.5	52	D	1.5	3	4.5	55	C	2.0	4	8.0	53	D	1.5	4	6.0	
IS/BS/SE/A-24/M/E/15	Malik Abdul Rafay	62	C	2.0	3	6.0	-	-	-	-	60	C	2.0	3	6.0	71	B	3.0	3	9.0	83	A	4.0	4	16.0	53	D	1.5	4	6.0	
IS/BS/SE/A-24/M/E/16	Moeza Gul	62	C	2.0	3	6.0	-	-	-	-	44	F	-	3	-	56	C	2.0	3	6.0	50	D	1.5	4	6.0	35	F	-	4	-	
IS/BS/SE/A-24/M/E/17	Mubarrah Noor	63	C	2.0	3	6.0	-	-	-	-	50	D	1.5	3	4.5	53	D	1.5	3	4.5	50	D	1.5	4	6.0	51	D	1.5	4	6.0	
IS/BS/SE/A-24/M/E/18	Muhammad Abdullah Awan	66	C+	2.5	3	7.5	-	-	-	-	75	B+	3.5	3	10.5	71	B	3.0	3	9.0	81	A	4.0	4	16.0	70	B	3.0	4	12.0	
IS/BS/SE/A-24/M/E/19	Muhammad Abdullah Zafar	40	F	-	3	-	-	-	-	33	F	-	3	-	52	D	1.5	3	4.5	41	F	-	4	-	23	F	-	4	-		
IS/BS/SE/A-24/M/E/20	Muhammad Ahmed	50	D	1.5	3	4.5	-	-	-	-	29	F	-	3	-	51	D	1.5	3	4.5	50	D	1.5	4	6.0	41	F	-	4	-	
IS/BS/SE/A-24/M/E/22	Muhammad Askari Mehdi	50	D	1.5	3	4.5	-	-	-	-	65	C+	2.5	3	7.5	51	D	1.5	3	4.5	37	F	-	4	-	43	F	-	4	-	
IS/BS/SE/A-24/M/E/23	Muhammad Hamza Fazal	75	B+	3.5	3	10.5	-	-	-	-	53	D	1.5	3	4.5	71	B	3.0	3	9.0	81	A	4.0	4	16.0	50	D	1.5	4	6.0	
IS/BS/SE/A-24/M/E/24	Muhammad Haris Nadeem	60	C	2.0	3	6.0	-	-	-	-	61	C	2.0	3	6.0	66	C+	2.5	3	7.5	72	B	3.0	4	12.0	47	F	-	4	-	
IS/BS/SE/A-24/M/E/25	Muhammad Hashir Khan	52	D	1.5	3	4.5	-	-	-	-	55	C	2.0	3	6.0	75	B+	3.5	3	10.5	51	D	1.5	4	6.0	50	D	1.5	4	6.0	
IS/BS/SE/A-24/M/E/26	Muhammad Hasnain (Withheld due						-	-	-	-																					
IS/BS/SE/A-24/M/E/27	Muhammad Shayan Saleem Hashm	70	B	3.0	3	9.0	-	-	-	-	55	C	2.0	3	6.0	57	C	2.0	3	6.0	70	B	3.0	4	12.0	40	F	-	4	-	
IS/BS/SE/A-24/M/E/28	Muhammad Taimoor Shahid	62	C	2.0	3	6.0	-	-	-	-	50	D	1.5	3	4.5	55	C	2.0	3	6.0	75	B+	3.5	4	14.0	47	F	-	4	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (Software Engineering) 3rd Semester Section-E Morning Session: Autumn 2025

		SE219					
		Software Engineering					
		Obtained	Grade	GP	Credits	Product	
B.S SE SP-2024-M-B-0106	Muhammad Sharyaar Dhaniyal	65	C+	2.5	3	7.5	
B.S SE SP-2024-M-B-0121	Touseef Hussain	70	B	3.0	3	9.0	
IS/BS/SE/A-24/M/E/01	Afnan Ahmed Khan	60	C	2.0	3	6.0	
IS/BS/SE/A-24/M/E/02	Ahsan Mahmood	70	B	3.0	3	9.0	
IS/BS/SE/A-24/M/E/03	Alishba Bibi	66	C+	2.5	3	7.5	
IS/BS/SE/A-24/M/E/04	Areeba Hameed	61	C	2.0	3	6.0	
IS/BS/SE/A-24/M/E/05	Fareeha Sughra	83	A	4.0	3	12.0	
IS/BS/SE/A-24/M/E/06	Farhan Ahmed	65	C+	2.5	3	7.5	
IS/BS/SE/A-24/M/E/07	Hadia Habib (Before Final Exam A						
IS/BS/SE/A-24/M/E/08	Hafeez Ullah Khan	65	C+	2.5	3	7.5	
IS/BS/SE/A-24/M/E/09	Hamid Karim Mir	66	C+	2.5	3	7.5	
IS/BS/SE/A-24/M/E/10	Haris Idrees	80	A	4.0	3	12.0	
IS/BS/SE/A-24/M/E/11	Javeria Khawar	67	C+	2.5	3	7.5	
IS/BS/SE/A-24/M/E/12	Jawad Hafeez	60	C	2.0	3	6.0	
IS/BS/SE/A-24/M/E/13	Juma Khan	71	B	3.0	3	9.0	
IS/BS/SE/A-24/M/E/14	Maham Kamran	55	C	2.0	3	6.0	
IS/BS/SE/A-24/M/E/15	Malik Abdul Rafay	57	C	2.0	3	6.0	
IS/BS/SE/A-24/M/E/16	Moeza Gul	58	C	2.0	3	6.0	
IS/BS/SE/A-24/M/E/17	Mubarrah Noor	55	C	2.0	3	6.0	
IS/BS/SE/A-24/M/E/18	Muhammad Abdullah Awan	23	F	-	3	-	
IS/BS/SE/A-24/M/E/19	Muhammad Abdullah Zafar	71	B	3.0	3	9.0	
IS/BS/SE/A-24/M/E/20	Muhammad Ahmed	50	D	1.5	3	4.5	
IS/BS/SE/A-24/M/E/22	Muhammad Askari Mehdi	66	C+	2.5	3	7.5	
IS/BS/SE/A-24/M/E/23	Muhammad Hamza Fazal	71	B	3.0	3	9.0	
IS/BS/SE/A-24/M/E/24	Muhammad Haris Nadeem	57	C	2.0	3	6.0	
IS/BS/SE/A-24/M/E/25	Muhammad Hashir Khan	77	B+	3.5	3	10.5	
IS/BS/SE/A-24/M/E/26	Muhammad Hasnain (Withheld due						
IS/BS/SE/A-24/M/E/27	Muhammad Shayan Saleem Hashm	71	B	3.0	3	9.0	
IS/BS/SE/A-24/M/E/28	Muhammad Taimoor Shahid	75	B+	3.5	3	10.5	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (Software Engineering) 3rd Semester Section-E Morning Session: Autumn 2025

Registration #	Name	EW244					GE169					GE265					SE2110					SE213					SE215				
		Technical & Business Writing					Applied Physics					Calculus and Analytic Geometry					Computer Organization & Assembly Language					Database Systems					Data Structure				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/SE/A-24/M/E/29	Muhammad Umair Khan	53	D	1.5	3	4.5	-	-	-	-	-	35	F	-	3	-	52	D	1.5	3	4.5	19	F	-	4	-	35	F	-	4	-
IS/BS/SE/A-24/M/E/31	Raja Bilal Khan	65	C+	2.5	3	7.5	-	-	-	-	-	55	C	2.0	3	6.0	66	C+	2.5	3	7.5	82	A	4.0	4	16.0	60	C	2.0	4	8.0
IS/BS/SE/A-24/M/E/32	Raja Muhammad Bilal	50	D	1.5	3	4.5	-	-	-	-	-	34	F	-	3	-	51	D	1.5	3	4.5	16	F	-	4	-	40	F	-	4	-
IS/BS/SE/A-24/M/E/33	Razia Bano	88	A	4.0	3	12.0	-	-	-	-	-	86	A	4.0	3	12.0	82	A	4.0	3	12.0	86	A	4.0	4	16.0	75	B+	3.5	4	14.0
IS/BS/SE/A-24/M/E/34	Rehan Khan	52	D	1.5	3	4.5	-	-	-	-	-	52	D	1.5	3	4.5	57	C	2.0	3	6.0	55	C	2.0	4	8.0	41	F	-	4	-
IS/BS/SE/A-24/M/E/35	Rida Fatima	76	B+	3.5	3	10.5	-	-	-	-	-	93	A	4.0	3	12.0	71	B	3.0	3	9.0	81	A	4.0	4	16.0	53	D	1.5	4	6.0
IS/BS/SE/A-24/M/E/36	Rimsha Ishtiaq	70	B	3.0	3	9.0	65	C+	2.5	3	7.5	50	D	1.5	3	4.5	66	C+	2.5	3	7.5	71	B	3.0	4	12.0	48	F	-	4	-
IS/BS/SE/A-24/M/E/38	Sudais Ahmad Ghani	61	C	2.0	3	6.0	-	-	-	-	-	50	D	1.5	3	4.5	66	C+	2.5	3	7.5	41	F	-	4	-	51	D	1.5	4	6.0
IS/BS/SE/A-24/M/E/39	Syed Manan Haider Shah	75	B+	3.5	3	10.5	-	-	-	-	-	75	B+	3.5	3	10.5	60	C	2.0	3	6.0	67	C+	2.5	4	10.0	47	F	-	4	-
IS/BS/SE/A-24/M/E/40	Tayyab Husain	87	A	4.0	3	12.0	-	-	-	-	-	98	A	4.0	3	12.0	84	A	4.0	3	12.0	89	A	4.0	4	16.0	80	A	4.0	4	16.0
IS/BS/SE/A-24/M/E/41	Usman Rafique	60	C	2.0	3	6.0	-	-	-	-	-	40	F	-	3	-	57	C	2.0	3	6.0	57	C	2.0	4	8.0	52	D	1.5	4	6.0
IS/BS/SE/A-24/M/E/42	Uzair Dhaniyal	68	C+	2.5	3	7.5	-	-	-	-	-	57	C	2.0	3	6.0	54	D	1.5	3	4.5	44	F	-	4	-	35	F	-	4	-
IS/BS/SE/A-24/M/E/43	Wajeaha Batool	91	A	4.0	3	12.0	-	-	-	-	-	80	A	4.0	3	12.0	71	B	3.0	3	9.0	72	B	3.0	4	12.0	77	B+	3.5	4	14.0
IS/BS/SE/A-24/M/E/44	Waqar Ahmad	66	C+	2.5	3	7.5	-	-	-	-	-	44	F	-	3	-	38	F	-	3	-	41	F	-	4	-	55	C	2.0	4	8.0
IS/BS/SE/A-24/M/E/45	Yaman Khan	88	A	4.0	3	12.0	-	-	-	-	-	94	A	4.0	3	12.0	87	A	4.0	3	12.0	93	A	4.0	4	16.0	82	A	4.0	4	16.0
IS/BS/SE/A-24/M/E/46	Zonish Attiq	63	C	2.0	3	6.0	-	-	-	-	-	52	D	1.5	3	4.5	60	C	2.0	3	6.0	60	C	2.0	4	8.0	53	D	1.5	4	6.0

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (Software Engineering) 3rd Semester Section-E Morning Session: Autumn 2025

		SE219					
		Software Engineering					
		Obtained	Grade	GP	Credits	Product	
IS/BS/SE/A-24/M/E/29	Muhammad Umair Khan	66	C+	2.5	3	7.5	
IS/BS/SE/A-24/M/E/31	Raja Bilal Khan	64	C	2.0	3	6.0	
IS/BS/SE/A-24/M/E/32	Raja Muhammad Bilal	60	C	2.0	3	6.0	
IS/BS/SE/A-24/M/E/33	Razia Bano	91	A	4.0	3	12.0	
IS/BS/SE/A-24/M/E/34	Rehan Khan	65	C+	2.5	3	7.5	
IS/BS/SE/A-24/M/E/35	Rida Fatima	33	F	-	3	-	
IS/BS/SE/A-24/M/E/36	Rimsha Ishtiaq	65	C+	2.5	3	7.5	
IS/BS/SE/A-24/M/E/38	Sudais Ahmad Ghani	77	B+	3.5	3	10.5	
IS/BS/SE/A-24/M/E/39	Syed Manan Haider Shah	77	B+	3.5	3	10.5	
IS/BS/SE/A-24/M/E/40	Tayyab Husain	90	A	4.0	3	12.0	
IS/BS/SE/A-24/M/E/41	Usman Rafique	66	C+	2.5	3	7.5	
IS/BS/SE/A-24/M/E/42	Uzair Dhaniyal	70	B	3.0	3	9.0	
IS/BS/SE/A-24/M/E/43	Wajeaha Batool	86	A	4.0	3	12.0	
IS/BS/SE/A-24/M/E/44	Waqar Ahmad	65	C+	2.5	3	7.5	
IS/BS/SE/A-24/M/E/45	Yaman Khan	94	A	4.0	3	12.0	
IS/BS/SE/A-24/M/E/46	Zonish Attiq	66	C+	2.5	3	7.5	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026